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You Try!

Claim: for all integers a, b, c,n withn > 0:
If a = b (mod n) then ac = bc (mod n)

Before we start we must know:

1. What every word in the statement means.

2. What the statement as a whole means.

3. Where to start. Divides

4. What your target is.
For integers x, y we say x|y (“x divides y") iff

there is an integer z such that xz = y.

Equivalence in modular arithmetic

Leta€ZbeZneZandn > 0.
We say a = b (mod n) if and only if n|(b — a)

Another Proof

For all integers, a, b, c: Show that if a + (bc) thena t b ora t c.
Proof:

Let a, b, c be arbitrary integers, and suppose a t (bc).

Then there is not an integer z such that az = bc
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Try a few values...

gcd(100,125)
gcd(17,49)
gcd(17,34)
gcd(13,0)

lcm(7,11)
lcm(6,10)
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public int Mystery(int m, int n) {

if (m<n) {
int temp = m;
m=n;
n=temp;

}

while(n != 0) {
int rem = m % n;
m=n;
n=rem;

}

return m;
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